
TO-92 Plastic-Encapsulate Transistors

CS13001CS13001CS13001CS13001 TRANSISTORTRANSISTORTRANSISTORTRANSISTOR (NPN(NPN(NPN(NPN))))
FEATURESFEATURESFEATURESFEATURES
powerpowerpowerpower switchingswitchingswitchingswitching applicationsapplicationsapplicationsapplications

MAXIMUMMAXIMUMMAXIMUMMAXIMUM RATINGSRATINGSRATINGSRATINGS (TA=25(TA=25(TA=25(TA=25℃ unlessunlessunlessunless otherwiseotherwiseotherwiseotherwise noted)noted)noted)noted)

SymbolSymbolSymbolSymbol ParameterParameterParameterParameter ValueValueValueValue UnitsUnitsUnitsUnits

VVVVCBOCBOCBOCBO Collector -Base Voltage 600 V

VVVVCEOCEOCEOCEO Collector-Emitter Voltage 400 V

VVVVEBOEBOEBOEBO Emitter-Base Voltage 7 V

IIIICCCC Collector Current -Continuous 0.2 A

PPPPCCCC Collector Power Dissipation 0.75 W

TTTTJJJJ Junction Temperature 150 ℃

TTTTstgstgstgstg Storage Temperature -55-150 ℃

ELECTRICALELECTRICALELECTRICALELECTRICAL CHARACTERISTICSCHARACTERISTICSCHARACTERISTICSCHARACTERISTICS (Tamb=25(Tamb=25(Tamb=25(Tamb=25℃ unlessunlessunlessunless otherwiseotherwiseotherwiseotherwise specified)specified)specified)specified)

ParameterParameterParameterParameter SymbolSymbolSymbolSymbol TestTestTestTest conditionsconditionsconditionsconditions MINMINMINMIN TYPTYPTYPTYP MAXMAXMAXMAX UNITUNITUNITUNIT

Collector-baseCollector-baseCollector-baseCollector-base breakdownbreakdownbreakdownbreakdown voltagevoltagevoltagevoltage V(BR)CBO IC= 100μA , IE=0 600 V

Collector-emitterCollector-emitterCollector-emitterCollector-emitter breakdownbreakdownbreakdownbreakdown voltagevoltagevoltagevoltage V(BR)CEO IC= 1mA , IB=0 400 V

Emitter-baseEmitter-baseEmitter-baseEmitter-base breakdownbreakdownbreakdownbreakdown voltagevoltagevoltagevoltage V(BR)EBO IE= 100μA, IC=0 7 V

CollectorCollectorCollectorCollector cut-offcut-offcut-offcut-off currentcurrentcurrentcurrent ICBO VCB= 600V , IE=0 100 μA

CollectorCollectorCollectorCollector cut-offcut-offcut-offcut-off currentcurrentcurrentcurrent ICEO VCE= 400V, IB=0 200 μA

EmitterEmitterEmitterEmitter cut-offcut-offcut-offcut-off currentcurrentcurrentcurrent IEBO VEB= 7V, IC=0 100 μA

DCDCDCDC currentcurrentcurrentcurrent gaingaingaingain
hFE(1) VCE= 20V, IC= 20mA 10 40

hFE(2) VCE= 10V, IC= 0.25
mA 5

Collector-emitterCollector-emitterCollector-emitterCollector-emitter saturationsaturationsaturationsaturation voltagevoltagevoltagevoltage VCE(sat) IC= 50mA, IB= 10 mA 0.5 V

Base-emitterBase-emitterBase-emitterBase-emitter saturationsaturationsaturationsaturation voltagevoltagevoltagevoltage VBE(sat) IC= 50 mA, IB= 10mA 1.2 V

TransitionTransitionTransitionTransition frequencyfrequencyfrequencyfrequency fT VCE= 20V, IC=20mA f =
1MHz 8 MHz

FallFallFallFall timetimetimetime tf VCC=45V, IC=50mA 0.3 μs

StorageStorageStorageStorage timetimetimetime tS IB1= -IB2=5mA 1.5 μs
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